TEST 2B - Zadání

Rozlož na součin prvočísel, urči n D
1)  144 = 
240 = 

2) 
300 = 

630 = 

3) 
60 = 

200 = 

4) 
96 = 

160 =

TEST 2B - Řešení

Rozlož na součin prvočísel, urči n D
1)
144 = 2 ∙ 2 ∙ 2 ∙ 2 ∙ 3 ∙ 3
240 = 2 ∙ 2 ∙ 2 ∙ 2 ∙ 3 ∙ 5

n = 240 ∙ 3 = 720
D = 2 ∙ 2 ∙ 2 ∙ 2 ∙ 3 = 16 ∙ 3 = 48
2) 
300 = 2 ∙ 2 ∙ 3 ∙ 5 ∙ 5

 
630 = 2 ∙ 3 ∙ 3 ∙ 5 ∙ 7


n = 630 ∙ 2 ∙ 5 = 6300

D = 2 ∙  3 ∙ 5 = 30
3) 
   60 = 2 ∙ 2 ∙ 3 ∙ 5

 200 = 2 ∙ 2 ∙ 2 ∙ 5 ∙ 5

n = 200 ∙ 3 = 600
D = 2 ∙  2 ∙ 5 = 20
4)  
   96 = 2 ∙ 2 ∙ 2 ∙ 2 ∙ 2 ∙ 3
 160 = 2 ∙ 2 ∙ 2 ∙ 2 ∙ 2 ∙ 5

n = 160 ∙ 3 = 480
D = 2 ∙ 2 ∙ 2 ∙ 2 ∙ 2 = 32
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